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(1) 0.2-0.1

(2) 0.8 0.6

@) 01 (2) 0.2
® (1) 0.3 (2) 0.15
® (1)0.3(2) 1.5

@ (1) 0.1 (2) 1.5
@ (1)0.3(2) 0.3

(1) 0.2-0.1=0.1
(2) 0.8-0.6 = 0.2
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40| 4200g = 4.2kg

=93] 1 1kg 600g = 1.6 kg
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(1) 0.43+0.79 (2) 0.57 + 0.64

@ (1) 1.11 (2) 1.21 @ (1) 1.12 (2) 1.22
® (1) 1.21 (2) 1.22 @ (1) 1.22 (2) 1.23
@012 121

(1) 0.43 +0.79 = 1.22
(2) 0.57 +0.64 = 1.21
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@ 1.54+2.8=1.82

@1-54 +28=4.34

® 1.54+2.8 = 43.4

@ 1.54+28=182

@ 1.54+28=2334
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1.54 + 2.80 = 4.34
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4.679

12-55=6.5

6.5 —1.821 = 4.679
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10 - 7.26 = 2.74(L)

9530 mL — 9.53L

12.4 - 9.53 = 2.87(L)

( 22 59| )=2.74+2.87 = 5.61(L)




